Q. 1-4 Direction: In the following questions, there
1s a relationship between the letter terms on the
left of the sign (: :). The same relationship exists
to the right ofthe sign (: :), of which one is missing.
Find the missing term from the alternatives.

1) NOVA:OVON::0ZON:?
1. 0z0z
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3. BDGK:OKHF:KMPT:?
1. XTOQ
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_3-KTq0
4. 0XTQ
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4. BEFC:EDBF:VYZW:?
AYXVZ Y XV
2. XYVZ
3YXZV
4 VYXZ

5. Lookatthe following figure. Find the pattern
for writing a number in the small triangles
and find the missing number.
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l. NOVA:OVON::OZON:?
1. OZ0Z
2. Z0ZO
3. NONO
4, ZNZN

2. BEJQ:ACGMU::FINU:?
IYEHLRZ
2. EGKQY
3. FHKRZ
4. EHLQW

BDGK:OKHF::KMPT:?
. XTOQ
2. X0TQ
3. XTQO
4. OXTQ

4. BEFC:EDBF:VYZW:?
LY XVEZ
20 XN T
3. YXZV
4. VYXZ
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6. Find from the alternatives the numberwhich 6. feu 70 faseai & & 98 5= == sfou St

will replace the question mgrk (7) A fE= (?) F = W =00
Tl
4 [ 5] 80 5 4 | 5 [0
5 6 | 150 =T 5 & | 150
V6%, |8 |7 | 448 8 | 7 |448
C == _24¢.
L s > ) 6T L4 15
= s L = 2G >
2e 61 1% 4.3 3 -

T G a® 3. 7
4, B 4. §

7. Select the correct alternative to replace the 7. ¥ faw () ® =W R @ e
L?'r e ﬁ-‘:‘u|
371531:5112347::7153163:7 3T1531:5112347::71531:63:7
1. 9214181 .:‘} \ C\) 1. 921 41 81
2. 133163127 it 2. 133163 127
3. 132961125 . 3. 132961125

479193979 4. 9193979

8.  Select the correct alternative to replace the 8. ¥ fo= (?) & = W Tl o
Lk .ll'l ﬁﬁ-ql

9{1:31::12%:? 90 :81::120:7

T B =
144 1. 144
P 2. 143 2. 143
: 3. 121 3. 121
4. 120 4. 120

9. Select the correct alternative to replace the 9. W ff= (2) % =@ W TE Ty
fj__g 2, ?’;J “ i 5 I
812327 2227188 81:3 127 u¥020125
1. 225:25 1. 225:25
20525 2525
3. 150:15 3. 15015

62555 4. 625:5
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10. Select the correct alternative to replace the

1 1 ';:,A pilgrim started from a shrine. A fter walking

straight for 100m, he again moved to his right
and then after 500m, he again moved to his
right. After walking a distance of 100m, he
moved to his left and then walked 200m. He
again moved to his right and walked 700m.
In the end he turned to his left two times.

What is the distance of his location from the
shrine?

1100 m

1300 m o . 3
1400 m

4. 2100 m
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Q. 12-14 Direction: Find the odd-one-out from ¢ 12 14.ﬁ§5~|- feu m faedl § 9 I H

the alternatives

12, 1..25.5.5
2 STa
3.'96,6,16

4. 75,5, 25
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|
1. %5, 55
5. /5%, 3:11
3. 96,6, 16
4. 75,5,25
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15.

16.

17.

18.

ln the given series 4 4
108550, 317 87115, 7%5, 58i5 5.3,
1,8,3,5,3,7,835:1.73.45.58,3,

1?133351 R A S

how many times do the two consecutive

numbers (i.e. numbers one after the other)

have a difference of 47

k6

2. 9

3=

=13

In the given series

558255254;2_,5352868

P P BN s 2,8

how many times the number ‘2’ has come

before 8 but 5 has not come after 87

1. 4

Sind

4.1

In the given series

2,5,3,6,8,4,9,6,8,1,5,1,6,8,7,5,6,2,

?53683?6815{;8

how many times the number 6’ is followed

by the number ‘8" but ‘8" should not be

followed by *1°?

i c B

P

3 3’;

w44
In the given series

'25185139552636?4&8645
25,2,4,16,5,32, 4, 61,9,3,4,2

how many times the two consecutive (one
after another) number in the given sequence
are square of the previous number?

1. 4

. 5
3%

4. 7
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15.

16.

18.

T ' o
19813751]: jr?: Sr 1151 T131 5-313111513:
J, 1,8 8 5 3 R ausi [ d aiai s JaRian
L7 1288 8051

»

a1 R = AR (U F =16 554) gemat
" 4 T FR 22

1. 6
2. 9
oLl
4. 13
st e HEen o
5,6,8,2,5,5,2,5,4,2,8,5,3,5,2,8,6, 8,
2,5,2,8,6;2,8,5, 7,2, 8

8

fohert 9 Ten 8 & Tedt 2 € TR 8 &
% 5 T 82

1
2
3
4.
<t

2,5,18,51,3,9, 5,52, 6,36, 7,46, 8, 64, 5,
25,2,4,16,5,32,4,61,9,3,4,2 ‘
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19. Observe the figure given below. 19, = & W sy H AAEE @)
HEF
o 2?2
T digd : : dgd = m
If the mirror image of the figure is rotated to afz wmgfa ® v ufafaE w90 W
90 degree in clock wise direction, it will look =feumes (U=t & feun H) AW ST A F©
like: . e fgEm?
o al
5 ° S a
o o
B 31: 1 __/ 3 4
= 20. Observe the figure given below. 20. 4 = T aRfa W YA S =fEm|
= 5
If the mirror image of the figure is rotated to fe smrefa = g widtas =1 180 191 arATE
180 degree in anti-clockwise direction, it will (==t =t faoda & #) HEE S 1 =5
12, look like: w7 femm?
Ml""/; 2 3 4
21, Observe the figure given below. 21, d= M HEA H EEEE LfEul
5, O
2 o ?
Ot - .
|| - .
Find out the water reflection of the figure few U faedl ® @ ARBRT & Sl 9 Fiarae
from the given alternatives. I T Hifem|

% é - :E

R\dﬁ =]
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22. Observe the figure given below.

First rotate the figure by 90 degree in clock-
wisedirectionand find out its water reflection

from the alternatives given below.

W

=

M

=

Whichoftheanswer figure is the mirror image
of the given figure when mirror is held at

23.
X
Y
xy?
O "'}
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24. Observe the figure given below.

TXL

Which of the answer figure is exactly the

water image of the given figure when water
is below the item?

24, = q T AFG FH HAYEF arEu)

I oAl § 9 F 5 A & W Sl
w1 faee TE @ wfafa= =00, 99 W
a5 ® A9 @l I 7?2

IXL| |LX

IX1L

2

\ (e 2 w4 eda i
25. Gopal is elder by 4 years to Govind. After 16
years Gopal will be thrice his present age and
Govind will be five times of his present age.
How old is ‘Gopal*?

1;-;».

7 =L !'.:: ’.}'I" il "T
1. 4 years
2 -8 years
3. 12 years
4 ;fu.f&% .1-_”1,_1_!::_-;11‘
4. 16 years

\
@- 9 X =
If in a particular year, 16th June was Friday,
then the first Friday in July of that year will
fall on which date?

26.

257 F
1. SthJuly
J0 =F
2. 6th July 5
37 7th July
4. 8th July

25. Tl g ¥ Tifa= € 4 94 91 21 16 T
AR T A AT FaHE A
aﬂ??ﬁﬁ?ﬁﬂ@mﬁaﬁm S F 9=
T Bt T e w2

e 58 2446 = 2(rt)
2, 8 9 2 0= 2 A2
3. 1299 2= 291
4. 16 T8 5 M
26. af% u= 99 favm o 16 57 F AR o1, @
TH 4 § Seng | veen ywan fwe fafy
TEm?
l. 5 S8
2. 6 s
3, 7 9om
4. 8 omd
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27. Aproblem figure is given. Find out which of
the figures given as alternatives is embedded
in the given problem figure.

(

31
28. Among the four answer figures which one is 28. 9R IW MHA B ¥ FA A 9 A 5
not there in the key figure? T 22
1 2 3 4
29. Inarow ofboys, Mukesh is 8thfromtheright 59 TeFl ® U U T TSN oS SR S8
and Suresh is also 8th from the left. When ﬁ%aﬁ;wq}mf‘jﬁﬁ g = 2l ==
Mukesh and Suresh interchange their ¥ 3R @ a9 =E 51 =a-
positions, Suresh becomes 16th from the oA E A g = AR 16 & 5 ==
left. | 3
How many boys are there in the row? e § & e wew 22
116 \ 1516
)
2. 20 _@{gﬁ: S ﬁﬂ"} 2. 20
723 v 3. 23
4. 25 -~/ 4. 25

- Fa
) I';- | | L,-_:,

‘W‘
ﬁ];iFEIJJ|&_;&—-E'
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27. T W YH A B mEm s e s e 30
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fifea ® =8 3@ =ifsm :




30. [fC is husband of B, B is daughter of A, A is
mother of D and D is a boy, then how D is

related to B? Pri=)
1. Husband £ =
. 2.-Brother () —)
3. Son
4. Father

31. IfC is brother of B, B is son of A, D is father
of C and A is a female, then how A is related

to D7 H-ﬂ' T\ (=)
1. Mother CJ":-—H—J B
1\_-!‘")
2. Father
3. Sister
W &~ Wife

32. In which answer figure all the specified
components of the key figure are found?

30, #fx ‘¢’ ofi & B ®, B G E A H,
‘AR R D W D T e B,
d ‘D' fFg yeR dat[ § BT W2

o

A %) 2 wid

3. T
4, fum

31, AR C W B E, B TR AL D
fim & 'O’ = @R A Hieen €, @ A TFE
YR Gatea & ‘D’ 92
1. T
2. faan
3, @A
4, Tt

30, WY F @ Gl STem-STer qi¥ SE
frg eX angfa © GiwEfed €2
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3B ¥ == = == I3 oY Iaga | 35.
== == === = =himfeE €7

33. In-which answer figure all the specified
~ components of the figure are found?

@ % O O

g% 3

34, Identifytheanswerfigurewhichcanbeformed 34, gﬁ_:mq:ﬁ: = EE'&THIEEE (T & ‘1?-'13
by rotating the problem figure at one step faam H) gH W 9T =l W smElE =
EEIE el

anticlockwise.
L--L— y -

f—
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36.

37.

northern direction from his office, which is
10 metres West of his factory and 10 metres
East ofhisclub. Whichofthe givenalternatives
resembles the shape of the graphical
representation of the positions of office,
residence, factory and club?

Y /4/ 2 3 4
In a given Circle directions are given and
places of ‘P’ “Q’ ‘R’ ‘S have been shown. If
“P* moves one & half quarter clockwise in
which direction ‘P will be?

1. North-East Region
2. North-West Region
3. South-East Region
4. South-West Region
Asquare paper is folded in a particular manner

and a punch is made. When unfolded the
paper appears as given below:

=] Q
o Q
o o
o o

Which of the following alternative shows the
correct manner in which punch is made?

9 o] =] T
1 2 3 A

=
FREE ¥ Y= & @R 10 HE w5 W
3R Fo@ § WA w1 AR 10 HE I T W
3 3§ s fen o 15 e W g W R
o fawed § ® FH W FEed, M,
FHEM dAR Fod w1 fefE & e
fom B wEy F TEW 87
|
l
1 2 3 4

. fu w99 o @ W # $R P, Q)

‘R’ 3R °S’ 1 T =9 T g A P
T T Qe (g€ #1 fEn H) 29
(% Sl @mEn) wgEE (SR w@@ e A
e fwg fam o sm? '

P
g

1. SO-E & =

2. FE-9EH &F
3. afEU-geE &
4. afeqo-ufy=m &=

. TF SR FE & U faem @ 8 HiE

T eht SEE 9% fE T @l 9 TS
frfefen &9 § fear 2@ &

oo O
o 00

o

Frfafas § 4 = o fawey 95 R S
7 Hel &1 =g 2
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Q. 38-40 Direction: In the following questions: W,

If A and C are good in Science and
Mathematies:;

D and A are good in Science and Cricket:

C and B are good in Tennis and
Mathematics;

D, B and E are good in Cricket and Tennis:
E and D are good in Cricket and Music,
then

38. Who is good in Cricket, Mathematics and | 38
Science? [S | M £\l lll =
A A il W . o |
2. B C |« [y |G| =
R oI~y i =
- 5
4. D E Vi e ;: = o
39. Who is gtth in _Sciencﬂ,‘ Tennisiggg 39,
Mathematics? == =1 -
) B
LEE-:"“C'-
3. D
4 E
40. Who is not good in Science and Music? 40.
b A
2B
3. C
4 E
41. Inafamily father is a Doctor and the Mother ~ 41.
15 an Advocate. They have a son who is an
Engineer and married to a Teacher and their
daughter is an Advocate. If [_] represents
Doctor, /\ represents Advocate,(O)represents
Engineer and () represents Teacher, which
one of the following diagram represents the
family relationship and their respective
positions?
| 2 3 4
; = -0 P
L e 3 | M
) 1
=

38-40 Trdyr: FefafEs v o

5 ‘A’ 3R ‘¢’ fagm sk TP o o=
‘D’ 3R A faE o free d o §
‘C @R ‘B’ 2 R ufw § o ¥
%',‘E’ X ‘B’ frde ik 3w o =
B’ 3l D’ fmz ok wie o £

. fFme, 1w s faam & &9 o= 22

A
B
C
D
faam, 2w 3ir 7w 9 3R F=
B
C
D
E

e 3R Hifa & F9 =1 77 22

A

B

C

E

T HER ¥ foa ===t & 3 o =as2
2 % U @ E S S R W s
% Ty fafed & ok o T weaEs
# afk [ zme #1, A wamz =1, O
SR 1 3l ) frares w1 wfafios ==
2 a fefafas § 8 39 O omE Iies
gﬁmaﬂtﬁaﬂaﬁ—aﬂﬁaﬁlaﬂaﬁ
?
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i
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2 -

-4

e L e

SRR

42.
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teachers are both players and Artists?

J
!
|
‘r

J Players

Teachers
| B3~5 ?,’ J—1cacum

.j 12 6 — Artists

2.6
3. 8
4.9

1
2.
3

4.

42. Tnthe figure given below find outhowmany 42, % fiu sm@ ® 7e wa Fifsy &

2 EEIE
3~—_5 I 12/~ Toue
12 6 —EhelhIL
10
3
6
8
9

~ Q. 43-44 Direction: Study the following diagram W, 43-44 frdor: fefafas sm@ =1 SAFEs
~ and then answer each question oA Hifaw 3 96 TS WA FHIW =ifem|

Youths of Village

—Unemployed

unemployed youths in village?
A4

25

3. 6

427

44. Whichnumberrepresentsemployededucated 44

youths in a village?
1. 4

4. 12

M13

43, Whatisthe number thatrepresentsuneducated ~ 43.

FF W o aAfviig Se A g
it 27

1.

Bowo

-] v Lth B

S Ot wem wEw e anin gast #)
=9I 872

L.

£ ow oW

4
3
7
12



e

in the question figure?

-]

e

45. W]ﬁchanswerﬁgurewillmmpletethepattem

2

o

along the lines into a cube?

m

manner,

A
47. In the following list alphabet-codes for each
word have been written in a jumbled

3

4

46. How will the figure look like when folded

4

CRY
RAY
TREE
FARE
CAT
FAT

DEZ
XZE
KEHK
EXKM
XDH
HMX

‘DARE’ will be coded as-

L CXEBK
2. DXEK
3. XEKB

4. Cannot say

o~

T\

4. ITHWIW AFH T sE = =T Q.
T FL? cod
que

|
——

AT

-

N
)
[

Al T A

—_—

—

4

46%3@‘%@??:‘4’5?? 4

91 W =T Tar

m/ (8

1 2 3 -4

4. Frefefes g % s v @ forg

HE-Hevd FFafeerd 21 4 fag T ¥

CRY DEZ
RAY XZE
TREE KEHK
FARE EXKM
CAT XDH
FAT HMX

‘DARE’ %I {8 &R F=ag e wmm?
1. CXEK

2. DXEK

3. XEKB

4. 78 T TFa




Q.48-49 Directions: Consider the words and their
. codes given in the table below and answer the

- questions.
joIW, | GPHN
GET JEV
EAT) | FAY
G;EAT g@g@ﬁ_
FOUL | EPQD)

48. How many alphabets have been retained as

codes?
1. 2
203

Défﬁﬂ

4. 5

49, The word ‘FIGURE‘ will be coded 49

as : -
reaiorr. d H

2. FDELVF
3. FIIPRA
4, FHIQAR

50. In a certain language WHITE is written as 50,

F H
=

3 48—49ﬁ%ﬂ:ﬁ%amﬂﬁqmmaﬁai‘ﬂ
?@iﬁﬁqtﬁmz#ﬁmahuﬁfﬁam

sl

DSRGV. How will BLACK be written in that

1mguag,e?

1~ YOZXP
2. YOXZP
. YZOXP
4, YOPXZ

Lid

9.

M 15

48.

JOIN | GPHN
GET JFV
EAT FAV
GREAT | JRFAV
FOUL | EPQL

ﬁmﬁmﬁmﬁaﬁwﬁﬂﬁﬁqﬁﬁaﬁm
T 8?2

w= ‘FIGURE’ & f&@ &R #zas &
S ?

1. EHIQRF
2. FDELVF
3. FITPRA
4. FHIQAR
fordt amn o WHITE ! DSRGV fe@n i

%1mwﬁaLACKHﬁﬁmm’Faﬁ1
wEm?

1. YOZXP
2. YOXZP
3. YZOXP
4. YOPXZ




Q. 51-52 Direction: A table of words and their
codes is given below. Analyze the pattern of
transformation of code into words and answer
questions based on them,

ETG PIG
TTE TIP
KSY CAN
ESKP PACE
TBE 1HERE
DPY HEN
CPY KEY
HBG DOG
DBT HOT
SOAPYT | ABSENT

51. How many alphabets have not been used as
codes for each other?

o2
2: 3
314
4. 5
52. Which of the following words can be

successfully coded using the pattern based
on the table?

1. EXPLODE
2. DISASTER

_3-HINTED

4. SOLITARY

13-
L
53. Hmacme%=zmﬂﬂnf;ﬁmmumw
BLUE will be written? 2

2
1. 68 \\QL ? -;_',I_‘
_}’72 q
FESRP Y e il

4. 94

515

52

53.

ETG PIG
TEE 1L
KSY CAN
ESKP PACE
TBE TOP
DPY HEN
CPY KEY
HBG DOG
DBT HOT
SOAPYT | ABSENT

ot ol s T T & w2

22

i

L B k2

2
3.
4

e ¥ amaif 92 (2) =1 va s
%W T w=t A W AweaEs sas
a1 T 22

1" - SO T R 5 [}

EXPLODE

. DISASTER

HINTED
SOLITARY

IR T %2 v5fa § L=20, RED=51, @
BLUE f#® R famr smom?

1.

68

2. 72
3.
4. 94

81
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54. Ifin a code GO = 105, SO = 285, then how
RAT will be written?

1280 ys \ %

2. 295 N

3. 345 0
47360 Pl

Q.55-57 Directions: Letters from Ato Z are coded
using the following cells in diagram I and sectors
in diagram I1. The first letter in each cell is coded
by its shape while the second letter includes a dot
in it, for example:

A is coded as __I - M is coded as j

K is coded as >; P is coded as ->

Diagram I

AM'| NF| CO

BU | TV| DG

EW|I1Z | XY

Diagram II

55, How SUGAR will be coded?

L[] 387 Sl o ek
2, >3 EEAN
AL A E AN -
4 o (T

s4. fe foret 2 vsfa 5 GO = 105, SO =285,
dl RAT fo&m wer foamen smam?

1. 280
2. 295
3. 345
4. 360
¥. 55-57 T80 A 4 Z % & F&U & A=
a@ [ H el eI e 11 ° @vel %1 W
FH Heas A T Tl TEE HSEE F 99T
e F oA I FrEEvE & AR fE

T ® WElE SEU AR HE/ETS & SHR § TH
farg =1 frefm w21 SSEnd:

AHE%J;MH?@%'—I
KT EEE); PR TEE
(M@ 1)

AM | NF | CO

BU | TV | DG

RQ

55. ‘SUGAR’ =l f¥ R Fgas fwar smom?

gl o7
2 >3 ELAN
3. L TR 2l
s ET AN

M 17




56. How SPICE will be coded?

A~ <& >ML
e I 8 WA
3 K >R
1. <E:| AN

57. How PATCH will be coded?
L ool <
e UEES
3. < D] A
o &L e ¥
58. Given—

L Taergyt ¥
ix A*THE {,ﬁ O

a4 4 445
Find out which number from the following

stands.for TEA ! § 4
k7108 L2

2. 130 48

3. 310

4, 413

Q. 59-60 Directions: In the following questions
the words are coded but are not in their respective
position. Study them carefully and answer the
questions that follow:
*Mohan Wants Car’ is KQ, 3

Y A /
Car J¢ Good” is 1, 4 :
‘Mo}(an s Good Scooters’ is é_. -,j{-‘ _fr; 'I/
‘Amit Has Car’ is ,/I', Sand i
* Car Is Precious’ is;I’, é’ 9

59. Which digit stands for ‘Good'?

S
P

4
6
7

=)

L

56.

57.

58.

‘SPICE’ =i f® w=r Zzag fF smam? 6l
. <o TL 71

R DY

- L >F L

4 T N

‘PATCH’ =1 fod ¥R g fman smam?
-3 I O N O

o oI W 15
3. € ool

s < >Rl

feam gam -

(=]

s

28 )

T AR
+RAT E
4 4 4 4

Frefafag 5 9 fom g %1 @1 TEA 2
IH T i)

1. 103

2. 130

3. 310

4. 413

%9—an%ﬁ%w:ﬁqhﬁ§aHﬁﬁmﬁﬁw

T € g I fRfa % a3

?ﬁ‘ﬁﬂ: Herg H AR o {U g w1 I
|

‘Mohan Wants Car’# 1,2, 3
‘Carls Good 21,4, 5

- ‘Mohan Has Good Scooters™® 2,4, 6, 7

‘Amit Has Car’# 7, 1, 8 3t
* Car Is Precious’ % 1, 5.9

59.

M 18

‘Good® & fom = @ % 82
|

g I e
— e




- ——

@ 2
60 What will be the code for ‘Amit Wants 60, *Amit Wants Precious Scooter’ & feig, i
Paaciuus Scooter’? & N S FM?
L2356, 1..2;3,6;9
—
L B3.006 2. 8,3,9,6
3. "806,.5,9 3. 8,6,5,9
408,479, 4. 87,9, 1
61. In the following multiplication, each of the ¢y Fr=iferfiam o H, fafee e o TiE 5
different letters denotes a differentinteger. foe s o= 3| yes HASL T AH
Each letter stands for the same integer 8 Uit y& | 3 T Ed 3 =fz ‘B’
through out. If *B’ stands for 6 and ‘E’ 1 6 3T E 1 AF 8 &, @ F’ W D’
stands for 8, then what is the difference FT 3T 27
between ‘F* and ‘D’?
- Se ¥/ A G 0
Dk © =5
ACFR & ACFB
: AG‘ A EAG
iR FHEFB -
FHFB ik,
) _ flin? o 12
W= 2. 4
e St
4, 8 4. 8

Q. 62-63 Direction: Read the statement given ¥, 62-63 frdor: = RRu T FYT F AFTES
below. Find out the diagram (s) from the given — wfedl &g Y famedi § ° FYUT H T8l YEHN
alternatives representing the statement correctly. U =t F@/HAEl 1 @ Hie)

62. Ifall A are B but some A are D, and all Dare  62. afg g+t “A’, ‘B’ 4 T 59 ‘AL, D’ 7, 7R

E. [ ‘D, ‘B’ B
) ; ) ,
Prew o ;H'}- v
e
1. Tand1I (® ) 1. Tsill
27 Tand I Nt 7. 1l
3, Tand IV 3. &IV
4. Only I X\ 4, 3amll .

i

J M19



63. Ifall Aare Bandall BareC butsome Care 63. aff I+t ‘A’, ‘B’ ¥ sl o+t *'B’,‘'C’ ¥ W |
not D but all A are D. %9 ‘C, ‘D’ 7€ &, i gt cA) D’ B

mﬂ 1. Il

2. landIII 2. D=
3. land IV 3. 1swIV
4. Only I 4. Fa=ll
64. Consider the following: 64, Trefafas w faam =it
» Some teachers only teach - = foas wae T 21
+ Some incharges only look after work - HE 9 F99 FE FT @IS T4 2
* Some incharges are teachers - wP 99A e ©
» Teachers and incharges work in colleges . Torerr @R ward WSl 9 w5 5 2
Which one of the four diagrams given below = fou o sl H W FF T U =
represents the above data? A I Ewhar 87
S =N
© 0@ Q @
e 274 g
1 o 3 a
65. Consider these informations: 65. 3 gEel W fa=r Fifew)

= 40 students studied English

40 Taafdal 5 =5 =1 = e
* Out of them 20 students studied '

philosoohy _ . TH F 20 3 TFEIE F1 3egdd e |
* Ten students studied philosophy as well . o fomdE 3 =EwEE S S SH W 1
SsTrdn e =
Which of these figures represents the above 4 wEEE = = =5 9 ST 59 9
data? =i E9Al 27

OCo O» 0 & |

O\ 76/ M 20
NG 3
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66.

67.

68.

o North and West

In which figure all the specified components
of the problem figure are found?

P "

>
e

1 2

Two women and two men are playing cards
and are seated North, East, South and West
of a table. No woman is facing East. Persons
sitting opposite to each other are not of the
same sex. One man is facing south. Which
direction are ladies facing? @ 5 J’

1. East and West =

|
W
Ashok’s residence is 25 metres away from
thatof Bhagwat towards South-West direction,
Champak’s house is 25 metres away from
that of Ashok towards East. Deepak’s house

is 25 metres away from Bhagwat towards
west. Which of the given alternatives

2. South and East ! ] ﬁ?ﬁ
B"

3. North and East

resembles the shape of the above-

description?
1 2 3 A
"|: 1
5 e ;‘}'/—p [i?

66.

67.

63.

o A w Tem-atem s ST
frg SaL TSt ° AiEfed €2

i
)

w1 4

& wheemd o @ qEw A g © F e
T B ® I, T, TEV SR ofEE w6
sr 32 ) =€ o Afeen | W S GE
R A Cif R AR e o C e CAS IS
# fefn = 78 €1 UH g9 W He S
s 3| wfeee @ e wE H R €7
| g 3R ofvEn

2. =W IR Y

3, IW IR [

4. 3T AR uf=m

79Tt = T a7 & K-
feam @1 i 25 TR | ¥ TEE F A
iR & 9 E g S #iR 25 et @ gl
¢ 2| <9 1 W AE F W Y ufvEm w
3t 25 e g 81 frw My foewed # @
T SIS AV @ AIEY 87




69. Agroupoffriendsaresitting in an arrangement
each one at a corner of a hexagon. Rakesh is
sitting opposite Rajesh, Jaya is sitting next
to Suman, Neelam is sitting opposite Suman
but not next to Rakesh, Amit has a person

between Rajesh and himself. b
Who is sitting opposite Jaya? A
1. Rajesh B ]’J E
ﬂ- <,
2. Neelam, R Pl
<~ Amit ]

¥ & ek

4, Suman - i g ?ﬂj 3
70. Manjuis younger than Priyanka. Mukesh and

Jagdish are older than Priyanka but younger

than Sudharghc@ n?\z{l/ie same age as Srikant.

Hence, Srikant is j v

1. younger than Manju : M
wi:-‘ﬁ]ﬂar than Manju

3. younger than Mukesh

4. younger than Priyanka

71. Harsh is the father of Santosh, Preeti is the
daughter of Beena and Beena is the wife of
Harsh. Santosh is not the daughter of Beena,
Find out the relationship of Santosh and
Preeti.

1. Father — daughter % _]_ g

= Brother — sister ;,
3. Husband — wife S
4, Mother — daughter 1.\ T)

72. Inarow of boys, Mukesh is 8th from the right
and Suresh is also 8th from the left. When
Mukesh and Suresh interchange their positions,
Suresh becomes 16th from the left.

What will be Mukesh’s new position from

the right?
ILS -‘\.x_;}
2716 5l
3. 07 (g~ Y+ &
4. 18 r A
b 5

/| o

69. Tl &1 UF UYE UF = & SER Yo
Y2 % UF HH W 29 #1 TR T F
THE, 59 g9 % wedw, fiom g
HoE T3 T & Fehean =2, 392 71 aifim
?mmﬁrmié}aﬁwmﬁﬁ

|
A F HEHE FH e §7
1. [
2. e
3. #Him
4. g

70. HS i 4 3 F 21 @) A SR S

71, v wm @ f E o A w o
s i v B Teh #1 wa A R
T T HAW SR Wi # =Y 7w
it

1. faar - ¢
2. 9 - gied
3. gfg - ufeq
4. mEM - g
72. TEF ® UF UiE H, HH9 o4 S Y 8
® SR g off =R o g 8 A B g

&
S T W A T TR S5 o #
™ =E SR " 16 o 8 W g

[
o
Ly

-

(]
-
Ll

oo
-
]




Q. 73-77 Direction: Take the given statement(s)
as true and decide which of the conclusions
logically follows from the statement.

73. Statement: Demonstrators protested against
the New Education Policy.

Conclusions:
L. Demonstrators are antl-sncxal beings
II. All education pnhmes are. bad. %\
I11. Demonstrators often protesL :
. TandII follow. |
2. 1and Il follow. |
3. Conclusions I, IT and ITI follow.
wA:"ﬁ;ta is insufficient to draw conclusion.
74. Statements:
1. All pens are pencils. P
2. No Pencil is a monkey.
Conclusions:
I. No Pen is a monkey.
II. Some pens are monkeys. ,{ (j
I11. AII monkeys are pens. »/
o DnIy I follows.
2. Tand III follow.
3. 11 and IIT follow.
4. Conclusions I, IT and 111 all follows.
75. Statements:

.

1. All buses are trees. R
2. All trees are windows 11:3
Conclusions: k f/_ J

I. All buses are wi /udows ‘~~—-———/"’J‘r
II. All windows are buses
HI. All trees are buses. ..~
1. TandII follow. |
2 Urﬁ}rlfulinw_
3. 1II and III follow.
4. Conclusions I, IT and 1T follows.

_\]- 2 ‘t.\..

¥, 73-77 Taden: fu v Fow/aem w5 99 aeE
77 fofa Fifew fs w497 § 3 9 fr=d a5gm
w1 9 fawen 2

73. w9A : 75 o e & foeg vevheste A
fatta w=e fFam

Tred

L Wi T faet o €

I1. wt e Afifeal w2

ML Y= 94 : oy v s

1. fr=pd [ o 11 Freem 2

2. fed 1 3t 11 Frepem &)

3. e I 11 @i 11 frerera &)

4. Trerd frepem & fou gt vaie =21 21

T4. HET
. T4t 99 ufwme &
2. Wi ot fwem 9=x T )

I F8 T a=g
L= 7= 99 2]
l. w9 f=pd 1 frear #1
2. Tsd 1 ot 111 Fraem &)
3. Ferd 11 @ik 11 Feem 3
4. frerd 111 3R 101 B Freem &1

75. 9T ;
1. g+t 99 g% 7
2. 94t g9 faefral 2
forepd .
L. =t 95 fasfear €
1. meft fasfeal o &
LE g8 58 #
1. Fr=wd 1 ot 11 Frsemat &) ¢
2. et freed 1 frmemm 2
3. fred 11 & 1 e 2
4, Fr=d I 11 &% 11 | e €1

M 23




76.

11.

1. All lady ministers are law graduates

Consider these two statements to be true:
* All ministers are law graduates. 'r:'?'
* Some ministers are ladies.

%ic}l of these inferences is correct?

2. No lady minister is a law graduate
3. No male minister is a law graduate
4. All law graduate ministers will be ladies

Consider these three statements to be true:
« All birds fly 1t' [

* Hylais a reptile

( OF
« Some reptiles fly
Which of these inferences is ::\\'n?l:f'f
1. Hyla flies

vzz-"H}ia may fly

8.

3. Hylais a bird
4. Reptiles and birds fly

"W'Il:j:h number is wrong in the series?
3,8, 15, 243448 63

S

2. 24

3

79.

4. 48

l"md r.:-ut the missing term in the series.
410,28%% 244

1. 64
2. 81~ C&Q"

37 82

4. 96

76. T5u <1 wosl 51 9 et 52 =

77.

T8.

79,

M 24

L. =it Wt fafy oo
| . o U ufeed #

9 9 %1 T Frend =5 2

1 W e W w () === 8
2. FE i ofeen o5t ol === = &
3. FE t gy o fafg = = ¢
4. |l 99 Fms 9491 ofeas =0

- me Et 3ed 2

+ ERA UF {ERd (T T ©

© HY {ERET 3T €

=T 9 w1 w1 frend w5 5

l. TEeT S=dt 2

2. TI5EN 3T HEAl £

3. BIEEN TH & T

4. IS AR e 3=H 2

gEell H 7o 98 Fh S0

3,8, 15,24, 34, 48, 63

1. 15

24

34

48

pi L L

FEel 9 §w 9% TG i
4, 10, 28, 7, 244

l. 64

281
3.82
4, 96

g




80. Ihave few pens to be distributed. If I keep 4, .

5 or 6 in a pack, I am left with three pens. If

[ keep 7 in a pack, I am left with none. What

is the minimum number of pens, I have to
pack and distribute? -

—~=3 [:1n ":.
1. 56 R
2. 61
3. 62
4,63

™

(). 81-83 Direction: In each of the following
questions, one term in the number series is wrong.
Find out th:: wrong ten;n

R1. 35 TS ?ﬁﬂs{} 85, 82, 8 33f
1. 83

82. 4 6115956,280, 1644

L. 28%; e 2

2. 1644
356

0I5 S

|I s 3 - .-‘j
83. 143, 1561169 |132 221,232,247

1. 182
2. 247
3. 232

A1

\ §0
AG YA

84. Find out the correct value in place of ? mark
in the problem figures:
7

80,

W g @ # fau wp W # Ak §
Toe ® 4, 5@ 6 T, @ A 9 3 U9 W
ST #) A e e § 7 T, @ R T
FE U e T=an 9 U U H0 it 6
% faw =9 ¥ =9 fea 19 €7

.. 368

2. 61

3. 62

4. 63

¥, 81-83 Frdwr : Tefafen e & o+ o,
& Y@l W U 9T e g

8l

82,

83.

84,

89,78, 86, 80, 85, 82, 83
1. 83
2. 82
3. 86
4. 78

4, 6, 15, 56, 280, 1644
1. 280

2. 1644

3. 56

4. 15

143, 156,
1. 182

2. 247
3. 232
4. 221

v aepfaal § W fBw (2) ® WA W
el 9= 99 Hife)

169, 182, 221, 232, 247

-l Lo e
[
Lh




éﬁ. How many such pairs of digits are there in
the number 98314625, each of which has as
many digits between them in the number, as,

‘y they are arranged in ascending order?
4

L e

\

D55 15
6 &
4, 7 &

(). 86-90: Directions: A wooden cube of side 4
cm has been painted with different colours. The
opposite two surfaces are painted with different
colours. The opposite two surfaces are painted
maroon, the other two with silver colour. Out of
the remaining two surfaces one is painted orange
and the other is painted green. The cube is cut into
64 equal cubes. Answer the following questions.

86. How many cubes have three colours maroon,
silver and orange?

L4 Vi)
o ERAT
4. 16 P | b

87. How many cubes have only two colours i.e.
maroon and green?

12
7 4

3. 6

4, 12

&8. How many cubes have only silver colour?
1. 4
3
312
4. 16

RS. WEAl 98314625 H IH F @mﬁ e

1

2

3

4
W. 86-90 T : T+ 4 W, o1 I FHEST B
™ oH fafg= of § momn # fawde @
TRl T S-S W TR T 21 | faadd
FER W HEA (Ferd) R F o W fae
(F9ee) 1 fF T 21 99 B Gernl § 8 T W
ST (M) 3R 3@ R 0 (80) @ fFn 70
%1 97 F 64 T F T H H@ T € TH GIN
% aR R Frefafas v w1 3@ St

86. ?ﬁﬂqu{ﬁﬁﬁ!ﬁﬁaﬂtﬁﬁﬁf?ﬂﬂm
?
1. 4
2. §
3012
4, 16
87. ?ﬂﬁﬁmmﬂﬁ-ﬁmaﬂtﬁh
?
|
2.4
3. 6
4, 12

88. TheR oA W waw ot 1 272
1. 4
2. 8
S )
4. 16

M 26




89. How many cubes have only orange colour?
~1. 4
228
312
4. 16

90. How many cubes do not have any coloured
face?

Lo ae
H_"/}:"E
312
4, 16

91. A solid cube is made using 64 small cubes.
For how many small cubes only one side is

seen? 3
t_;,__,__ e i
1. 16 4 )
G0 St L=l
224 Nt
3. 28 g
4, 32

92. Two positions of a dice are shown below.
When four 1s at the top what number will be

at the bottom?
1= [,5
b
35a ]
,
4. 6 o {’3(
0
2,
5

89.

o0.

g1;

92.

M 27

o A W weaw S T 82
4
8
12
16

e = # FiE T wow e 82
1. 4

2ol
3. 12
4. 16

64 B2 ¥H F1 WA FF Uk 319 5 G940
T 2| fRa B A w1 Faw UF B s
femr g=@ 82

1. 16

2. 24

3. 28

4, 32

= U U w1 5 e seiE 1§ sE

T 97 W AR a1 A g S5 9 et
HE BI?

oo

o2
2.3
3.5
4. 6




93. A5 metre long piece of cloth is cut into three
smaller pieces. How long is the longest of
the three pieces? Given that:

I. One piece is 2.90 metre long.

[1. One piece is 90 cm longer than another
piece and the remaining piece is 20 cm
long. A+ WO + 20

1. Statement | alone but not statement II
alone is sufficient to answer the problem.

\//Sﬁfément 1 alone but not statement |
alone is sufficient to answer the problem.
3. Statement I and II both are needed to
answer the problem.
4. Statement | alone suffices and also
statement II alone suffices to answer the
problem.

94. The equal number of houses in both sides of
the street are numbered 1, 2, 3, 4.... up one
side, then back down the other side. Ifopposite
House No. 10 is House No. 23, then how
many houses are there in the street?

1. 30 s 3. 18

T 2 vty
3. 34 ! vl 3
4. 36

yaurpnﬁitiunsc}fasingicwuuderncube,having
various marking on its all the six faces
are shown below. Study the positions

carefully.
O e
© ol = Pl

Which symbol is opposite to the symbol

2. O E
e

® ©

®

93.

94,

_.r- M 28

. Y FFE & U A T W, 55 =

TF 5 Hie =4 Fi
Etzgaraqmw#
ZHe e = w0 ’FﬂtFiﬁ-

L TF 353 290 5= = ©

II. T% 2l T 55 = W =5
W £ 3R I == N ==

21

. TS & SO0 & o 39 = 0
iE & 9hg Faa 5= 1 =

7. THEN F IO % ([O0 waw =8 0
Tafa # T wae w1 AR

. EmEd s foesa= 1 79 B 8
1 SEvEF e

4. TUEN B IA F (60 haw = L
2 3t Foe 5y 11 9 ==

uF e H A A AE T = .
wF AT Wl WE G a9 g e

WE W TR 1, 2, 3, 4 .. Foee
T R AR A GE 10 e .
e 23 & e H o fEe =
30
32
34

36

e S

Tl 9 94 fata= fa=l o, =8 =
=T TE | ! A o
EAiErd

O

©




96. In a dice ‘a’, *b’, ‘¢’ and ‘d’ are written on
the adjacent faces, in a clockwise order
and ‘e’ and ‘f’ at the top and bottom.
When ‘¢’ is at the top what will be at the

bottom? oo
o ) : | &
\_wl. d t _@ Jr Fs) |]|
. A Pl s
2. b p ﬁx: J'.',-,.:.._r F iy 1:,.- i !.1 je= I
il i e i (o]
4. e e o] =

Q.97-100 Direction: Given below are two matrices
containing two classes of letters. The rows and
columns of Matrix I are numbered from 0 to 4 and
that of Matrix II from 5 to 9. A letter from these
matrices can be represented first by its row number
and next by its column number e.g. ‘S’ can be
represented by 24, 31 ete. l

4 /
] e e T
0 g | [ ey i | e
1 R | O S P K
2 P | K| RM NG S
3 (@) S P K | R
4 | K| R | O S P
Matrix — I
5 7 8 9
DlLEIW D |G |
6 G I H|W|D
W DG I H
8 I HUITWo EBPRva
9 b IrG I H | W
Matrix — 11
97. Which set of numbers will represent the word 97
“SHOW"?
1. 12,67,42,56- ' 24 A
2. 24, 55, 30, 55 |
3,231,799, 22, 75 7|
4, 43,56,11,99

4

96. TH U i Fwesn wewl W ‘e, b, ¢
#R *d’ =faomad (a9t F1 9@ #5E F)
F9 4 fad & 3R ‘e’ 3 f i aw et
Felth 1 94 ‘¢’ HUI Fess 9T 8l o el
el I 91 BIM?

I
2. b
Sl
4 e
¥.97-100 TEwr : 9= § ¥ 7 Afzds § s
% 7w s ¥ e 1 # dRRE sk
el W HeN 0 " 4 SR Al 1 W 5 H 9
6 T ¥ T AEs ¥ UF SE F Yedt 39E
ufed 3R W% § TR S 5RO SuiAr S g

21 SRR & forw, °SY wi 24, 31 anfE g wwiAn
S T 2

B R
o ls [ P | EI"R"[*®
L | R |6 | SE[EpiH.x
2 | P | x| ralaosgss
T e [ e
S EA I B
e — |
o [
s|lHElw]|DlaG] ]
et [ Twi s
o 2 e e T
8| T |H|[W|[D]|G
s |p|lGg|1|H]|W
A — 11

HENS F1 HH W GYE U= “SHOW” i
Terum?

1. 12,67, 42, 56

2. 24,55,30, 55

3. 31,79,22,75

4, 43,56, 11,99

M 29




98. Which set of numbers will represent the word

“SHIP"?
. 00, 56, 66, 04
. 24, 86, 59,43
. 31, 86, 66, 44
. 12,98, 59, 97

. Which set of nurﬁhers will represent the word

“GROW™?
. 65,22, 04, 57
. 77,22,42,97
. 58,10, 11, 88
. 96,34, 23, 68

98. HEmH F FA W HEE Ve “SHIP” =

99.

TIIT?

1%

00, 56, 66, 04

2. 24,86, 59,43
3. 31, 86, 66, 44
4. 12, 98, 59, 97

e # FH W 9 7= “GROW”

= ?

. 65,22, 04, 57
- 11, 22,4297
. 58,10, 11, 88
. 96, 34, 23, 68

- Which setof numbers will representtheword  100. W&l F1 ®17 1 ¥9e W= “GRID” &
“GRID™ - <wiTm
65, 41, 85, 96 . 65,41, 85,96
58,41,97 88 . 58,41,97, 88

o 1
2 2
3. 65,41,95,85 3. 65,41,95,85
4. -

77,22, 23, 85 . 77,22, 23, 85




